N = 0l & At & Ml A

ol "}

20178 = =F 13 Lt

Al

tou

A ZoHA=SX
HH: HOe =X ST(AM=SX/HAANEXH)

£H9: ROHOIZ T AHIA 23 CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
ZHOH oI = XI ot 50,199, 441 41,711,904 8,487,537
= 22,602,094
S 600,000
== 3,491,402
Al 23,505,945
ZOoHel 22X S (AISEX/FHLHSIH) 35,774,981 27,804,770 7,970,211
= 13,306, 174
= 600,000
== 2,540,204
Al 19,328,603
O =EXMHHIA 235 35,774,981 27,804,770 7,970,211
2 13,306, 174
= 600,000
== 2,540,204
Al 19,328,603
Sojel AL K& 43,910 43,910 0
307 212t0| A 43,910 43,910 0
11 AMISIAMGEX 43,910 43,910 0
= 0ff & 43,910 43,910 0
ool sEUa #Ot 5,210,000& x13] 5,210
O&Ojol =2+ A} 10,800
— S XAMENCET AKX
2,700,000& x13] 2,700
—dI =023 AKX
2,700,000& *13] 2,700
— IS AZHMNCAGS EH AKX S
2,700,000& x13] 2,700
— IS X=X EFANXE
2,700,000& *13| 2,700
OAZEOC &SXZ0I9 Y Al
6,300,000& x13] 6,300
OZe SAIE 2 &K 5,400,000& *13] 5,400
O=StAtE StOtS = 5,400,000& *13] 5,400
Osotelel & IS Al 5,400,000& *13] 5,400
OAZEOWMC AH=M 3,600,000& *13| 3,600
OZOHOl AMPHS AZB2S AL
1,800,000& x13] 1,800
ORI AFS B O K& 777,562 630,518 147,044
201 A E2AH| 1,600 2,400 A 800
01 Ar®2teltl 1,600 2,400 A 800




SN

ZoH el = Xt

Ha: Fojel =X S(AMISX/FHAHSTE)
el B SR MEIA 25t (o2&
x 5 . 0 & o ol Ao -
SA B S (SH) - MEMY - BES = T BlRE2
= Off & 1,600 2,400 A 800
OFMAXESAN s A=Y
600,000& =13 600
O XtE=X 88 CHHM I HMZ b
1,000 *13] x1,000% 1,000
301 LEtEN = 6,000 6,000 0
09 éAAHIEES 6,000 6,000 0
= Off &F 6,000 6,000 0
OO HOALE I BLUHRIE 299
100,000 5 128 6,000
307  QIztol ™ 682,666 622,118 60,548
10 MIAEXNANEHER2IHEX 331,706 288,527 43,179
= 0fl & 331,706 288,527 43,179
OZOMHHM HABS 331,706
—SIAXNMEBHAE S AKX
36,465,000 36,465
—d3JE=0teE3a R2AANXR
36,465,000& 36,465
—BIEANTTHAAS S FEAIKXE
36,465,000 36,465
—ZICHMA=EXZ RFHAXR
35,873,000 35,873
— IS MEML =X FEHAXR
31,073,000& 31,073
—ZITSHMHALES FEAXE
31,073,000& 31,073
— I AEHMAE REIR
31,073,000 31,073
— S2HANEMASHLIsEE 31,073,000 31,073
—S2HMHARL3 RHAKXZ
31,073,000& 31,073
—=2=ES=XNZ0HE S 31,073,000& 31,073
11 At EXALS X 350,960 333,591 17,369
= Ofl & 350,960 333,591 17,369
Os=so0tel &2H 2¢ 55,213,000& 55,213
OAMZEML 2 29 57,248,000& 57,248
O=sZEH0Me ols=<0 Ss&8X 29 153,732
—SIAXNMEBMHLE S FEHAXS
102,094,000& 102,094
—ZICHMA=EXZ RFHAXR
51,638,000& 51,638
Ogggeiet 2 13,832,000& 13,832




SN

ZoH el = Xt

M HOe =X ST (AMIEXN/FHALAHSTH)
Ce: HOHUSXAHIA 23 (e &
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
Ox3na 24 18,540,000& 18,540
O&e BEHUE 29 31,655
—s0to FEHWA 20,985,000& 20,985
— AZHEOHO BEHDA 10,670,000& 10,670
OO Qe ME A 9,720,000 9,720
OAMZEOMe BEna 2H 5,160,000& 5,160
O&Oe 22 H &2 1,800,000& *x13] 1,800
OXNHMEOMS MHEH=A &9 4,060,000 4,060
402  QIZ2EXrE20l ™ 87,296 0 87,296
01 SIZAX2AMHER(XAMI) 87,296 0 87,296
= 0ol & 87,296 0 87,296
O=ZZ &M 0s&E0 SSEX nHFP
o 87,296
St=2XMEBOMIES FEAKXZ
43,648,000 ~1CH 43,648
— IS X=X EFANXE
43,648,000& «1CH 43,648
Zoele ¥ I8 stotssAH 22,200 20,700 1,500
307 QIz2to| & 22,200 20,700 1,500
11 AMISIAMEEX 22,200 20,700 1,500
= 0l & 22,200 20,700 1,500
OFoHeley J|E storSsH AL
22,200,000 *13] 22,200
20N QI =2 DI CH &l &8 Ab 14,538 13,859 679
307 212t0l A 14,538 13,859 679
11 AMISEIAMGEX 14,538 13,859 679
= 0ff & 14,538 13,859 679
OZoHel 221t al 14,538
— S XNMENCET AKX
5,004 ,000& *13| 5,004
— IS HMO=XS EFANXR
4,619,000& 13| 4,619
—ZISAMNFOH =X AKX
4,915,000& *13] 4,915
MAs &Zoel X& 111,192 111,192 0
301 ot A= 111,192 111,192 0
01 AMISIBEE=G=2 111,192 111,192 0
= 0l & 111,192 111,192 0
OMASEMNS M =2B8lE XN 25,000




SN

ZoH el = Xt

Ha: Zojel X ST (MIAEX/FHSAHASKHA)
el ZOHQIEXIMHIA 235 (CHel &)
% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES (ZE o) (I o) Hns2
— MAS ZOHQ 22/ 2,000,000 *1228 24,000
—DNEEFI| L A EHAH 22l
1,000,000 1,000
OMASHMY =HEZIMMAY
20,000,000 20,000
OXOQ 2XAAX XA
900! +43] 1,185t 2+ 128 51,192
OO =X WEXSH XN
3,000,000% x5 15,000
AL B4l HREA 82,240 42,320 39,920
201 Lpr2HH| 78,340 38,320 40,020
01 AbR22lH| 52,540 12,520 40,020
=0 & 48,620 12,520 36,100
OXOHQISX A2 ARE ALY 17,920
—HOHQIXESA L AMEEANS
70,0002 * 10 *13] 700
— 04O BEXR AMoRE =
70,0009 x8% * 6,720
— XOHOIE 2 HE 2 NG EaAx
70,0002 * 159 « 10,500
OO XNsSA EX 2
1,100 %27, 000 29,700
OSRHAMZHQARATHE AL AEAAAH
A A 1,000
— AR (FHE AMAE HQ)
100, 0008 7Y 700
—QALEHUAN BEL2R2 300,000 300
=313 ( 52,540) | ( 48,620) | ( 3,920)
ORHA ZH2X s EHAg
70,0002 x28% x23] | ( 3,920) | ( 0)] ( 3,920)
02 22294 25,800 25,800 0
=20l At 25,800 25,800 0
OXOHQIZXIHE L SQIIHE DR EHHiH|
25,800,000 25,800
203 YRETH| 3,900 4,000 A 100
03 AMFXARFZY| 3,900 4,000 A 100
=0l A 3,900 4,000 A 100
OISR HAREA 3,900,000& 3,900
04Ol BX)|PR DL 13,465 12,246 1,219
= 10,772
Al 2,693
301 LetEAa 13,465 12,246 1,219




SN

X XH -
S =

ZoH el = Xt
ZOHQl X S (A =ZEX/HAHNESXH)

Ce: HOHUSXAHIA 23 (e &
SN HE B (BA) - MEAY - BHAS (ggj) @(ijf;lﬁ% HRE2
301 ot A= = 10,772
Al 2,693
01 AMISIEEEL6= 13,465 12,246 1,219
= 10,772
Al 2,693
= 0l & 14,240 12,246 1,994
= 11,392
Al 2,848
O&FMIEZTIFR & 14,240,000& 14,240
= 11,392
Al 2,848
=Z13 ( 13,465) 14,240) | ( ATT5)
(= 10,772) 11,392) | ( A620)
(Al 2,693) 2,848) | ( A 155)
OQ&MeIEEXDF & 13,465,000 |( 13,465) 14,240) | ( ATT5)
(= 10,772) 11,392) | ( A620)
(Al 2,693) 2,848) | ( A 155)
2O ZMESBZH(HAAIE) 210,000 210,000 0
= 189,000
== 14,700
Al 6,300
301 ot A= 210,000 210,000 0
= 189,000
== 14,700
Al 6,300
01 AMISIEEE=G=2 210,000 210,000 0
= 189,000
= 14,700
Al 6,300
= 0l & 210,000 210,000 0
= 189,000
& 14,700
Al 6,300
OZ0IJZMEZHSH(ZMIAA)
210,000, 000& 210,000
= 189,000
= 14,700
Al 6,300




SN

X ZH
S =

ZoH el = Xt

DAY =X BA(MIAEXN/HAHNEXR)

Ce: HOHUSXAHIA 23 (CHe &)
SN HE B (BA) - MEAY - BHAS ggi) @(ijf;ﬁ% HRE2
SofeI=sXL el ArgY 322,056 300,756 21,300
= 161,028
== 24,154
Al 136,874
101 ol A H| 322,056 298,756 23,300
= 161,028
= 24,154
Al 136,874
04 JIZtHZ2ZXNSE S 322,056 298,756 23,300
= 161,028
= 24,154
Al 136,874
= 0ff &F 309,276 298,756 10,520
= 154,638
== 23,196
Al 131,442
OO =EX LXel AIY JI2tHMZ22 X 2
Pals]| 354,000& x71H = 12& 301,608
= 150,804
== 22,621
Al 128,183
OZHeIEX X2l AFY DJI2tHZ22 X &2
== 8,1423 x71H x12& 6,937
= 3,469
== 520
Al 2,948
OJIEr2HHI 731,000& 731
= 365
== 55
Al 311
=2&13 ( 322,056) | ( 309,276) 12,780)
(= 161,028) | ( 154,638) 6,390)
(= 24.,154) | ( 23,196) 958)
(Al 136,874) | ( 131,442) 5,432)
OO =EX LXtel AIY JI2tHMZ22 X oI
Palls] 309,276,000& |( 309,276) | ( 301,608) 7,668)
(= 154,638) | ( 150,804) 3,834)
(= 23,196) | ( 22,621) 575)
(Al 131,442) | ( 128, 183) 3,259)




SA: ZOHQI= X Bt
o FOHQ =X ST (MK /HAHSX)
el B SR MEIA 25t CEERED)
SA I B(HN) - NBAY - BaS o) ) HDE2
OZOf=R LRl A JIZHZ2X 2
== 9,940,0002 |( 9,940) 6,937) 3,003)
(= 4,970) 3,469) 1,501)
(= 745) 520) 225)
(Al 4,225) 2,948) 1,277)
OJIErR il 2,840,000& |( 2,840) 731) 2,109)
(= 1,420) 365) 1,055)
(= 213) 55) 158)
(Al 1,207) 311) 896)
201 Yt 0 2,000 A2,000
= 0
[ 0
Al 0
01 At222ldl 0 2,000 A2,000
= 0
[ 0
Al 0
20) A 12,780 2,000 10,780
= 6,390
[ 958
Al 5,432
OISR LXeIArY 2FH|
15,0008 +712 « 128 12,780
= 6,390
[ 958
Al 5,432
=13 ( 0) 12,780) A12,780)
(2 0) 6,390) A6,390)
(= 0) 958) £958)
(Al 0) 5,432) A5,432)
OO SRA2IAY 2FH| ( 0) 12,780) A 12,780)
(= 0) 6,390) A6,390)
(= 0) 958) £958)
(Al 0) 5,432) A5,432)
OHQl AUBHH AT 2| ALY 998,868 900,650 98,218
= 499,434
[ 74,915
Al 424,519




SN

X ZH
S =

el

ZoH el = Xt
DAY =X BA(MIAEXN/HAHNEXR)
TS XAMEIA 23

o)
40
]
o

M- =8 a9 (3) - HEAY - a2 (ggj) @(ijf;ﬁ% HRE2
101 jelals] 998, 868 900,650 98,218
= 499,434
== 74,915
Al 424,519
04 JI2ZtHZ22XARsSE+ 998, 868 900,650 98,218
= 499,434
= 74,915
Al 424 /519
= 0ff A 598,026 900,650 A 302,624
= 299,013
== 44,852
Al 254,161
OBt AdRel AFE JI2ZEMZ22 X 2124 d|
1,235,000 *x34H x12& 503,880
= 251,940
== 37,791
Al 214,149
Ogstddxtel Mg JI2ZHZ22X B2
124,247 & «34H x12& 50,693
= 25,346
== 3,802
Al 21,545
Ogetsd el AFY JI2HHZ22X E 22
1,235,000& *34H 41,990
= 20,995
== 3,149
Al 17,846
Ot dxtel A JI2HMZ2 2K JIEHE
CH Bl 1,463,000 1,463
= 732
== 110
Al 621
=Z13 ( 998,868) | ( 598,026) 400,842)
(= 499,434) | ( 299,013) 200,421)
(= 74,915) | ( 44 ,852) 30,063)
(Al 424 ,519) | ( 254,161) 170,358)
ogdutsdxiel AFY JI2ZEHIZ2 2 X o1 24|
844,272,000 |( 844 ,272) | ( 503,880) 340,392)
(= 422,136) | ( 251,940) 170,196)




fA:
CENY SX SAISA/HAHSA)
el

X ZH
S =

ZoH el = Xt

O =X MHIA 25t

o
“
'
Y

SA BB (AH) - HBAY - BA= (X o) ) HDE 2
(= 63,320) 37,791) 25,529)
(Al 358,816) 214,149) 144 ,667)
ogergdxtel At JI2ZHZ2 2L E8=
81,914,000& |( 81,914) 50,693) 31,221)
(= 40,957) 25,346) 15,611)
(= 6,144) 3,802) 2,342)
(Al 34,813) 21,545) 13,268)
ogersgd el Arg JI2ZHZ2 2L EAS
70,356,000& |( 70,356) 41,990) 28,366)
(= 35,178) 20,995) 14,183)
(& 5,277) 3,149) 2,128)
(Al 29,901) 17,846) 12,055)
ogeragdxtel AHg JI2ZEHZ2 2 A JIEHR
CH Bl 2,326,000& |( 2,326) 1,463) 863)
(=2 1,163) 732) 431)
(= 174) 110) 64)
(Al 989) 621) 368)
201  etI| 0 0 0
= 0
= 0
Al 0
01 At 2e2ldl 0 0 0
2 0
= 0
Al 0
= 0l & 55,080 0 55,080
= 27,540
= 4,131
Al 23,409
OFOel et ATl AHY 29D HI
135,000 34 «12& 55,080
= 27,540
& 4,131
Al 23,409
=& 13 ( 0) 55,080) A55,080)
(= 0) 27,540) N 27,540)
(= 0) 4,131) A4,131)
(Al 0) 23,409) A 23,409)
OFOHel deraddTtel AtY 23| 0& |( 0) 55,080) A55,080)




SN
RO =X SA(MASX/HAHENR)

X ZH
S =

ZoH el = Xt

Ce: HOHUSXAHIA 23 (CHe &)
SN HE B (BA) - MEAY - BHAS ggi) @(ijf;ﬁ% HRE2
(= 0)|( 27,540) | ( A 27,540)
(= 0)]( 4,131) ] ( A4,131)
(Al 0)]( 23,409) | ( A 23,409)
X500 ©1 Al 2HHI 2 XF 2l At 134,023 0 134,023
2 67,011
= 10,051
Al 56,961
101 o124 4| 134,023 0 134,023
= 67,011
10,051
Al 56,961
04 JAHIERSE L 134,023 0 134,023
= 67,011
& 10,051
Al 56,961
= 0l & 122,723 0 122,723
= 61,361
== 9,204
Al 52,158
OAZHHI L Xtel At DJI2HMZ22 X 124 d|
617,000& *14Y »12& 103,656
= 51,828
== 7,774
Al 44,054
OAZEHI L X2l At DJI2HM 22X B2
62,0773 *14H x12& 10,429
= 5,214
== 782
Al 4,433
OAZEHI L X2l At DJI2ZEM 22X & &2
617,000& 14H 8,638
= 4,319
== 648
Al 3,671
=413 ( 134,023) | ( 122,723) | ( 11,300)
(= 67,011)]( 61,361) | ( 5,650)
(& 10,051) [ ( 9,204) | ( 847)
(Al 56,961) | ( 52,158) | ( 4,803)

_10_




SN
RO =X SA(MASX/HAHENR)

X ZH
S =

ZoH el = Xt

S BOISAAMEIA 23t (2 :&A)
SA BB (AH) - HBAY - BA= o) ) HDE 2
OAZEMI L Xtel At D12t 22X el d|
113,568,000& |( 113,568) 103,656) 9,912)
(= 56,784) 51,828) 4,956)
(& 8,517) 7.774) 743)
(Al 48,267) 44,054) 4,213)
OAZEMIEXtel At JI2ZEHZ2 22X E8 =
10,560,000& |( 10,560) 10,429) 131)
(=2 5,280) 5,214) 66)
(& 792) 782) 10)
(Al 4,488) 4,433) 55)
OAZEMIE Xtel At JI2ZEHZ2 2L B &S
9,464,000& |( 9,464) 8,638) 826)
(= 4,732) 4,319) 413)
(= 710) 648) 62)
(Al 4,022) 3,671) 351)
OAIZERM L Xtel At JI2tH 22X J|EHR
CH 8 431,0002 | ( 431) 0) 431)
(= 215) 0) 215)
(& 32) 0) 32)
(Al 184) 0) 184)
201  LEt2I| 0 0 0
= 0
& 0
Al 0
01 At 2eltl 0 0 0
= 0
= 0
Al 0
= 0ff & 11,300 0 11,300
= 5,650
= 847
Al 4,803
OZOHCQl AlZFMIZ Ktel At 293 H|
11,300,000& 11,300
= 5,650
& 847
Al 4,803
=218 ( 0) 11,300) A 11,300)
(= 0) 5,650) A5,650)

_11_




SN M= D
M HOe =X ST (AMIEXN/FHALAHSTH)
Ce: HOHUSXAHIA 23 (CHe &)
SN HE B (BA) - MEAY - BHAS ggi) @(ijf;ﬁ% HRE2
(= 0)]( 847) | ( A 847)
(Al 0)]( 4,803) | ( A4,803)
OZOHCl AZERMIY Xl AFY 29| 02 |( 0)]( 11,300) | ( A 11,300)
(= 0)|( 5,650)| ( A5,650)
(= 0l 847)| ( £ 847)
(Al 0l 4,803) | ( £4,803)
MNASEHMC o=H XS 95,370 94,640 730
= 28,611
Al 66,759
301 ot A= 95,370 94,640 730
= 28,611
Al 66,759
01 AISIEXEE %62 95,370 94,640 730
c 28,611
Al 66,759
= 0l & 95,370 94,640 730
c 28,611
Al 66,759
OMASEOMC 2o =H| 635,800& x150H 95,370
& 28,611
Al 66,759
SOHQIDb 7 HLtErH] K& 524,760 339,600 185, 160
= 157,428
Al 367,332
301 ot A= 524,760 339,600 185, 160
== 157,428
Al 367,332
01 AMISIBEEG=2 524,760 339,600 185, 160
== 157,428
Al 367,332
= 0ff A 354,600 339,600 15,000
== 106,380
Al 248,220
O&FOMelII7 &Sty 354,600, 000& 354,600
== 106,380
Al 248,220
=Z13 ( 524,760) | ( 354,600) ] ( 170,160)

_12_




SN

X ZH
S =

el

ZoH el = Xt
DAY =X BA(MIAEXN/HAHNEXR)
TS XAMEIA 23

o)
4
[pal
o

SH-EH. O (AN) - NRANY - B (X o) ) HDE2
(& 157,428) 106,380) | ( 51,048)
(Al 367,332) 248,220) | ( 119,112)
OFOHQI It Hitetdl X2 524,760,000 |( 524,760) 354,600) | ( 170, 160)
(& 157,428) 106,380) | ( 51,048)
(Al 367,332) 248,220) | ( 119, 112)
Zojel SXaE B2 59,280 82,000 N22,720
= 17,784
Al 41,496
301 et AZF 59,280 82,000 N22,720
= 17,784
Al 41,496
01 A EEESH S 59,280 82,000 AN22,720
= 17,784
Al 41,496
= 0l & 59,280 82,000 A22,720
& 17,784
Al 41,496
OQ&FMe EXAE E= 59,280,000& 59,280
& 17,784
Al 41,496
Zofel ¥EHER0 22 145,000 143,300 1,700
= 43,500
Al 101,500
307  glztol & 145,000 143,300 1,700
= 43,500
Al 101,500
10 AL EXANEEE2ZHES 145,000 143,300 1,700
== 43,500
Al 101,500
= 0l & 145,000 143,300 1,700
& 43,500
Al 101,500
O&Ee &S S0 2% 145,000,000 145,000
=~ 43,500
Al 101,500
SOl MATHEAE A 1,534,076 1,350,302 183,774
= 147,831
Al 1,386,245

_13_




SN
X ZH -
L=

el

ZoH el = Xt
ZOHQl X S (A =ZEX/HAHNESXH)
TS XAMEIA 23

o
“
'
Y

SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2

307 QIz2tol & 1,534,076 1,350,302 183,774
== 147,831
Al 1,386,245

10 AISISXAIESEHES2IHIEX 1,534,076 1,350,302 183,774
o= 147,831
Al 1,386,245

= 0l & 1,534,076 1,350,302 183,774
== 147,831
Al 1,386,245
OFMAMNATHEAIE &H  1,534,076,000& 1,534,076
== 147,831
Al 1,386,245

Zojol=R B 2,489,243 2,489,243 0
= 70,000
Al 2,419,243

307 Q12t0| A 2,489,243 2,489,243 0
& 70,000
Al 2,419,243

05 QIt?E= 2,489,243 2,489,243 0
== 70,000
Al 2,419,243

= 0l & 2,489,243 2,489,243 0
== 70,000
Al 2,419,243
O&FMeI=X2 &9 2,489,243,000& 2,489,243
== 70,000
Al 2,419,243

A FUESANLERA 1,780,000 1,481,000 299,000
== 100,000
Al 1,680,000

307 QIz2to| & 1,780,000 1,481,000 299,000
== 100,000
Al 1,680,000

10 AISISXAIEEHESIHIEX 1,780,000 1,481,000 299,000
== 100,000
Al 1,680,000

= 0l &t 1,721,000 1,481,000 240,000

_14_




SN
X ZH -
L=

el

ZoH el = Xt

ZOHQl X S (A =ZEX/HAHNESXH)

O =X MHIA 25t

o)
4
[pal
o

SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2

& 100,000
Al 1,621,000
OB SAIE &F  1,721,000,000& 1,721,000
== 100,000
Al 1,621,000

=213 ( 1,780,000) 1,721,000) 59,000)

(& 100,000) 100, 000) 0)

(Al 1,680,000) 1,621,000) 59,000)

OFMoIF=2AESAIE 29  1,780,000,000& |( 1,780,000) 1,721,000) 59,000)

(& 100,000) 100, 000) 0)

(Al 1,680,000) 1,621,000) 59,000)

oo sSMEIER2H 361,535 319,940 41,595
== 36, 153
Al 325,382

307 QI12t0| A 361,535 319,940 41,595
== 36, 153
Al 325,382

10 AISISXAIEEHES2IHIEX 361,535 319,940 41,595
== 36, 153
Al 325,382

= 0l & 361,535 319,940 41,595
== 36, 153
Al 325,382
O ssSMHEIIE 29 361,535,000& 361,535
== 36, 153
Al 325,382

SOHCIMEQISXNJANMEHESH 275,231 263,231 12,000
< 03,744
Al 251,487

307 QIz2tol & 275,231 263,231 12,000
= 23,744
Al 251,487

10 AISISXAIEEHESIHIEX 275,231 263,231 12,000
c 23,744
Al 251,487

= 0 & 263,231 263,231 0
= 23,744

_15_




SN
X ZH -
L=

el

ZoH el = Xt
ZOHQl X S (A =ZEX/HAHNESXH)
TS XAMEIA 23

o)
4
[pal
o

SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
Al 239,487
OO MEOISKIAHEH 29K
263,231,000& 263,231
== 23,744
Al 239,487
=Z13 ( 275,231) 263,231) | ( 12,000)
(& 23,744) 23,744) | ( 0)
(Al 251,487) 239,487) | ( 12,000)
OO MEOSKAHEH 29
275,231,000 |( 275,231) 263,231) | ( 12,000)
(= 23,744) 23,744) | ( 0)
(Al 251,487) 239,487) | ( 12,000)
> SYHMHESY 217,216 206,596 10,620
== 18,762
Al 198,454
307 Q12t0| A 217,216 206,596 10,620
& 18,762
Al 198,454
10 AISISXAIEEHES2IHIEX 217,216 206,596 10,620
== 18,762
Al 198,454
= 0l & 217,216 206,596 10,620
== 18,762
Al 198,454
Ox3slsddyH &9 217,216,000& 217,216
== 18,762
Al 198,454
SOHCIMEANAL2H 3,037,873 2,901,024 136,849
= 2,035,511
== 130,854
Al 871,508
307 QIz2tol & 3,037,873 2,901,024 136,849
= 2,035,511
== 130,854
Al 871,508
10 AISISXAIEEHES2IHIEX 3,037,873 2,901,024 136,849
= 2,035,511
== 130,854
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SN
X ZH -
L=

el

ZoH el = Xt
ZOHQl X S (A =ZEX/HAHNESXH)
TS XAMEIA 23

o)
4
[pal
o

SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2

10 MISIAEEHI2IHEX Al 871,508

= 0l & 3,037,873 2,901,024 136,849
= 2,035,511
== 130,854
Al 871,508
OO MEAIE 2H 3,037,873,000& 3,037,873
= 2,035,511
== 130,854
Al 871,508

HOHQUEXAIEUAATXR (45) 81,281 81,281 0
= 24,385
Al 56,896

307 QIz2tol & 81,281 81,281 0
= 24,385
Al 56,896

10 AISISXAIEEHES2IHIEX 81,281 81,281 0
c 24,385
Al 56,896

= 0ff A 81,281 81,281 0
== 24,385
Al 56,896

OFOMAEXAIE LA XE(4S)

81,281,000 81,281
== 24,385
Al 56,896

O EXNANE LN IAMNS(7TS) 544,270 539,510 4,760
== 54,427
Al 489,843

307 Q12t01 A 544,270 539,510 4,760
== 54,427
Al 489,843

10 AISISXAIEEHES2IHIEX 544,270 539,510 4,760
= 54,427
Al 489,843

= 0l & 569,510 539,510 30,000
== 56,951
Al 512,559
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SN
X ZH -
L=

el

ZoH el = Xt
ZOHQl X S (A =ZEX/HAHNESXH)
TS XAMEIA 23

o)
4
[pal
o

SN HE B (BA) - MEAY - BHAS ggi) @(ijf;lﬁ% HRE2
OXBMIEXAE 2L (7TE)
569,510,000& 569,510
= 56,951
Al 512,559
=Z13 ( 544,270) 569,510) A25,240)
(= 54,427) 56,951) AN2,524)
(Al 489,843) 512,559) N22,716)
OFHMAEXAE 2HXNA(7TE)
544 ,270,000& |( 544 ,270) 569,510) A25,240)
(= 54,427) 56,951) A2,524)
(Al 489,843) 512,559) A22,716)
O EXNAEANEETZNSHSH 14,646 29,466 N 14,820
== 4,394
Al 10,252
307 212t0| A 14,646 29,466 N 14,820
= 4,394
Al 10,252
10 AISISXAIEEHES2IHIEX 14,646 29,466 A 14,820
== 4,394
Al 10,252
= 0l & 29,466 29,466 0
& 8,840
Al 20,626
O =SXNAIEHEZTZ ) HSA
29,466,000& 29,466
= 8,840
Al 20,626
=Z13 ( 14,646) 29,466) A 14,820)
(& 4,394) 8,840) A4, 446)
(Al 10,252) 20,626) A 10,374)
O =ESXNAIEHSZTZ)HSA
14,646,000 |( 14,646) 29,466) A 14,820)
(& 4,394) 8,840) A4,446)
(Al 10,252) 20,626) A 10,374)
MO SHEHHUAMEBAILDSA 139,200 108,000 31,200
== 41,760
Al 97,440
307 212t0| A 139,200 108,000 31,200
== 41,760
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SN

X XH -
S =

ZoH el = Xt
ZOHQl X S (A =ZEX/HAHNESXH)

Ce: HOHUSXAHIA 23 (CHe &)
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
307 QIz2tol & Al 97,440
10 AISISXAIEEHES2IHIEX 139,200 108,000 31,200
== 41,760
Al 97,440
= 0l & 90,000 108,000 A 18,000
== 27,000
Al 63,000
OMel2d HMAHFAE XA
90,000,000& 90,000
= 27,000
Al 63,000
=&13 ( 139,200) 90,000) | ( 49,200)
(= 41,760) 27,000) | ( 14,760)
(Al 97,440) 63,000) | ( 34,440)
OMel2y HOMAHFAIE XA
139,200, 000 | ( 139,200) 90,000) | ( 49,200)
(= 41,760) 27,000) | ( 14,760)
(Al 97,440) 63,000) | ( 34,440)
KNBASTHEAESAIA =S 189, 108 175,400 13,708
== 18,911
Al 170,197
307 212t0| A 189, 108 175,400 13,708
== 18,911
Al 170,197
10 AISISXAIEEHE2IHIBEX 189, 108 175,400 13,708
== 18,911
Al 170,197
= 0l & 189, 108 175,400 13,708
== 18,911
Al 170,197
OXNYGAISITHEAIESAI =S
189, 108, 000& 189, 108
== 18,911
Al 170,197
AZEHOWCIBEHOANAL IS 103,500 95,000 8,500
== 19,500
Al 84,000
307 QIz2tol & 103,500 95,000 8,500
== 19,500
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SN

X XH -
S =

ZoH el = Xt
ZOHQl X S (A =ZEX/HAHNESXH)

Ce: HOHUSXAHIA 23 (CHe &)
SN HE B (BA) - MEAY - BHAS ggi) @(ijf;lﬁ% HRE2
307 QIz2tol & Al 84,000
10 AISISXAIEEHES2IHIEX 103,500 95,000 8,500
== 19,500
Al 84,000
= 0l & 103,500 95,000 8,500
== 19,500
Al 84,000
OANZEHOMHUAEOAAIE JN=XNSHH 29
103,500, 000& 103,500
= 19,500
Al 84,000
SSHMNAXNHMEXNALMH2H 299,750 120,000 179,750
== 89,925
Al 209,825
307 212tol A 299,750 120,000 179,750
== 89,925
Al 209,825
10 AISISXAIEEES2IHIEX 299,750 120,000 179,750
o= 89,925
Al 209,825
= 0l & 285,000 120,000 165,000
== 85,500
Al 199,500
OBNOINBMENAHE 2
285,000, 000& 285,000
& 85,500
Al 199,500
=213 ( 299,750) 285,000)| ( 14,750)
(& 89,925) 85,500) | ( 4,425)
(Al 209,825) 199,500) | ( 10,325)
OO XNBMESXNRALAEH SH
299,750,000& |( 299,750) 285,000) | ( 14,750)
(& 89,925) 85,500) | ( 4,425)
(Al 209,825) 199,500) | ( 10,325)
A& BXNENH2 89 898,396 898,396 0
== 41,658
Al 856,738
307 QIz2tol & 898,396 898,396 0
== 41,658
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SN

X XH -
S =

ZoH el = Xt
ZOHQl X S (A =ZEX/HAHNESXH)

Ce: HOHUSXAHIA 23 (CHe &)
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
307 QIz2tol & Al 856,738
05 QIt?E= 898, 396 898,396 0
== 41,658
Al 856,738
= 0l & 898,396 898,396 0
== 41,658
Al 856,738
OAMZEMHAEBNEAHZ &H 898,396,000 898,396
== 41,658
Al 856,738
SOOI ATMEANAE JsEZAY 391,188 48,070 343,118
= 195,593
== 195,595
307 QIz2to| & 391,188 48,070 343,118
= 195,503
= 195,595
10 AISISXAIEEHESIHIEX 391, 188 48,070 343,118
= 195,593
o= 195,595
= O & 10,780 48,070 N 37,290
= 5,390
== 5,390
OXHMUXMATHEANE JsEZAEY
10,780,000& 10,780
= 5,390
== 5,390
=413 ( 391, 188) 10,780) | ( 380,408)
(= 195,593) 5,390) | ( 190,203)
(& 195,595) 5,390) | ( 190,205)
OXMHURMATHEAIE JsELAME
391, 188,000& |( 391, 188) 10,780) | ( 380,408)
(= 195,593) 5,390) | ( 190,203)
(= 195,595) 5,390) | ( 190,205)
2ol MHEX=2H K& 9,000 6,000 3,000
c 2,700
Al 6,300
301 ot A= 9,000 6,000 3,000
c 2,700
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SN
X ZH -
L=

el

ZoH el = Xt
ZOHQl X S (A =ZEX/HAHNESXH)
TS XAMEIA 23

o
“
'
Y

SH-EH. O (AN) - NRANY - B o) ) HDE2
301 detEaz Al 6,300
01 MIBEHEE=SHS3 9,000 6,000 3,000
= 2,700
Al 6,300
= 0l & 6,000 6,000 0
= 1,800
Al 4,200
OB Hol& MHeEX=zHl K&
3,000,000& x2H 6,000
= 1,800
Al 4,200
=313 ( 9,000) 6,000) | ( 3,000)
(= 2,700) 1,800)] ( 900)
(Al 6,300) 4,200)] ( 2,100)
oolsgmol2 MHaEXzHl XA
9,000,000& |( 9,000) 6,000)] ( 3,000)
(& 2,700) 1,800)] ( 900)
(Al 6,300) 4,200) | ( 2,100)
ST 2SEX 12,645,409 10,872,352 1,773,057
= 8,813,900
= 569,043
Al 3,262,466
307 gQIztold 12,645,409 10,872,352 1,773,057
= 8,813,900
= 569,043
Al 3,262,466
10 AL SXANEEE2IHIES 12,645,409 10,872,352 1,773,057
= 8,813,900
= 569,043
Al 3,262,466
= 0l &F 8,650,268 10,872,352 A2,222,084
= 8,127,768
& 522,500
Al 0
O=s&HMe 832X 8,650,268,000& 8,650,268
= 8,127,768
= 522,500
Al 0
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SN
RO =X SA(MASX/HAHENR)

X ZH
S =

ZoH el = Xt

CHel: HOHQUSRAMHIA 23 (el d e
S-S (BN) - ANRAY - BAS (X o) o) HRE2
=213 ( 12,645,409) 8,650,268) | ( 3,995, 141)
(= 8,813,900) 8,127,768)| ( 686,132)
(= 569,043) 522,500) | ( 46,543)
(Al 3,262,466) 0)] ( 3,262,466)
O=zZMQ 852X 12,645,409,0002 |( 12,645,409) 8,650,268) | ( 3,995, 141)
(= 8,813,900) 8,127,768)| ( 686, 132)
(= 569,043) 522,500) | ( 46,543)
(Al 3,262,466) 0)] ( 3,262,466)
HOHOISMEXIZ HI2H 1,722,456 1,588,259 134,197
= 1,205,719
[ 77,511
Al 439,226
307 QIZHOIA 1,722,456 1,588,259 134,197
1,205,719
[ 77,511
Al 439,226
11 A ETAIYER 1,722,456 1,588,259 134,197
= 1,205,719
[ 77,511
Al 439,226
20l A 1,704,471 1,588,259 116,212
= 1,193,130
[ 76,701
Al 434,640
OZOOIS MEXZ b
1,704,471,000¢ 1,704,471
= 1,193,130
[ 76,701
Al 434,640
=213 ( 1,722,456) 1,704,471)] ( 17,985)
(= 1,205,719) 1,193,130) | ( 12,589)
(= 77,511) 76,701) | ( 810)
(Al 439,226) 434,640) | ( 4,586)
OZOHOIS MEXZ U2
1,722,456,0008 |( 1,722,456) 1,704,471)] ( 17,985)
(= 1,205,719) 1,193,130)| ( 12,589)
(& 77,511) 76,701) | ( 810)
(Al 439,226) 434,640) | ( 4,586)
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SN
X ZH -
L=

el

ZoH el = Xt
ZOHQl X S (A =ZEX/HAHNESXH)
TS XAMEIA 23

o)
4
[pal
o

SA I B(HN) - NBAY - BaS (X o) ) HDE2
IOl LL RS HKH 9,399 15,139 A5,740
= 6,579
[ 423
Al 2,397
307 QIzol™ 9,399 15,139 A5,740
= 6,579
[ 423
Al 2,397
11 ASETAIYE X 9,399 15,139 A5,740
= 6,579
[ 423
Al 2,397
20) A 11,244 15,139 A 3,895
= 7,871
[ 506
Al 2,867
O x e H2KH 11,244,000€ 11,244
= 7,871
[ 506
Al 2,867
=213 ( 9,399) 11,244) | ( A1,845)
(=2 6,579) 7,871)| ( A1,292)
(& 423) 506) | ( A83)
(Al 2,397) 2,867) | ( A470)
oA LL RS HI=2H 9,399,0002 |( 9,399) 11,244) | ( A1,845)
(=2 6,579) 7,871)| ( A1,292)
(= 423) 506) | ( ~83)
(Al 2,397) 2,867) | ( A470)
HAZOHO BLBOIZ SN 6,000 0 6,000
[ 6,000
301 gt A 6,000 0 6,000
[ 6,000
01 MBBE=E2EZ 6,000 0 6,000
[ 6,000
=213 ( 6,000) 0)] ( 6,000)
(& 6,000) 0)] ( 6,000)
OFAHMQ BLBOIZ +2NA(HE
&) 6,000,0008 =1 | ( 6,000) 0)] ( 6,000)
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SN

X XH -
S =

ZoH el = Xt
ZOHQl X S (A =ZEX/HAHNESXH)

@ A =EXAEIA 235 CEERED)
SH-EH. O (AN) - NRANY - B o) ) HDE2
|| (= 6.000) 0) 6.000)
ESmoSSH 824,000 680,390 143,610
< 247,200
Al 576,800
307 ©I20 824,000 680,390 143,610
= 247,200
Al 576,800
10 ASI=TALEE SR E 824,000 680,390 143,610
< 247,200
Al 576,800
=0 879,826 680,390 199,436
= 152,209
Al 727,617
OESZHUISSH 879.,826,0002! 879,826
< 52,209
Al 727,617
=213l ( 824.,000) 879.826) A55,826)
(= 247,200) 152,209) 94,991)
(Al 576.,800) 727.617) A 150,817)
OEEZESK 824,000,0002! |( 824.,000) 879.826) A55,826)
(= 247,200) 152,209) 94,991)
(Al 576,800) 727,617) A150,817)
OiAT OO EaHSX 14,000 26,026 A 12,026
=2 9,800
< 630
Al 3,570
301 LstEaZ 14,000 26,026 A 12,026
= 9,800
= 630
Al 3,570
01 ABIEEE262 14,000 26,026 A 12,026
= 9,800
< 630
Al 3,570
2o 14,000 26,026 A 12,026
=2 9,800
= 630
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SN

X ZH
S =

ZoH el = Xt
DAY =X BA(MIAEXN/HAHNEXR)

Ce: HOHUSXAHIA 23 (CHe &)
SN HE B (BA) - MEAY - BHAS (ggj) @(ijf;lﬁ% HRE2
Al 3,570
O SMHIEXA 14,000, 000& 14,000
= 9,800
== 630
Al 3,570
MNAS EOfOl DSH L 2 AHHl K& 7,320 11,520 N4, 200
= 3,680
= 552
Al 3,088
301 ot A= 7,320 11,520 N4,200
= 3,680
== 552
Al 3,088
01 AMISIEEE=6=2 7,320 11,520 AN4,200
= 3,680
552
Al 3,088
= 0l & 10,400 11,520 A 1,120
= 5,220
== 783
Al 4,397
OHMSSAAMNNE 29F 10,400, 000& 10,400
= 5,220
== 783
Al 4,397
=413 ( 7,320) 10,400) | ( A 3,080)
(= 3,680) 5,220) | ( A 1,540)
(= 552) 783) 1 ( A231)
(Al 3,088) 4,397) | ( A1,309)
OMAS HOQ Xchd] & HAHH K&
7,320,000€ |( 7,320) 10,400) | ( A3,080)
(=2 3,680) 5,220) | ( A1,540)
(= 552) 783) | ( A 231)
(Al 3,088) 4,397) 1 ( A1,309)
EEHJUSEXA(A) 435,456 446,562 A 11,106
301 YHEA3 435,456 0 435,456
01 AMSIBEEESG=2 435,456 0 435,456
= 0l & 435,456 0 435,456
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SN M= D
M HOe =X ST (AMIEXN/FHALAHSTH)
Ce: HOHUSXAHIA 23 (CHe &)
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
Ols=2 zssdegsxA
9,000& *21H x192A| 2+ x12& 435,456
2oAe A4S AAY 24,821 21,039 3,782
= 17,375
= 1,117
Al 6,329
301 oty Al 24,821 21,039 3,782
= 17,375
= 1,117
Al 6,329
01 AMSIEEEHLG = 24,821 21,039 3,782
= 17,375
o= 1,117
Al 6,329
= 0l & 20,677 21,039 N 362
= 14,474
== 930
Al 5,273
ORZACIAEXAAMNY 20,677,000& 20,677
= 14,474
= 930
Al 5,273
=Z13 ( 24,821) 20,677) 4,144)
(= 17,375) 14,474) 2,901)
(= 1,117) 930) 187)
(Al 6,329) 5,273) 1,056)
ORISR AL 24,821,000 |( 24,821) 20,677) 4,144)
(= 17,375) 14,474) 2,901)
(= 1,117) 930) 187)
(Al 6,329) 5,273) 1,056)
S I3FAAT XA 1,815 0 1,815
= 1,452
= 54
Al 309
301 ot A= 1,815 0 1,815
= 1,452
== 54
Al 309
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HEESS1 RUESS DN
DAY =X BA(MIAEXN/HAHNEXR)

DS RALIA 28 22
3. B9l (3100) - MIRAY - BAS o gl a 2t
1,815 0 1,815
= 1,452
& 54
Al 309
= 0l & 377 0 377
= 302
& 1
Al 64
377,000& 377
= 302
= 11
Al 64
= ( 1,815) 377) 1,438)
(= 1,452) 302) 1,150)
(& 54) 11) 43)
(Al 309) 64) 245)
“
1,815,000& |( 1,815) 377) 1,438)
(= 1,452) 302) 1,150)
(= 54) 11) 43)
(Al 309) 64) 245)
HEHel B 5,400 31,461 AN 26,061
= 4,320
= 162
Al 918
QB2 &= 5,400 31,461 AN 26,061
= 4,320
= 162
Al 918
5,400 31,461 A26,061
= 4,320
= 162
Al 918
= 0l & 9,889 31,461 AN21,572
= 7,910
= 299
Al 1,680
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SN

X XH -
S =

ZoH el = Xt
ZOHQl X S (A =ZEX/HAHNESXH)

Ce: HOHUSXAHIA 23 (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
OLYE ML s==AMEIA X
9,889,000& 9,889
= 7,910
== 299
Al 1,680
=Z13 ( 5,400) 9,889) A4, 489)
(= 4,320) 7,910) A 3,590)
(& 162) 299) A137)
(Al 918) 1,680) AT62)
Oggmoe BE2EAHLA N
5,400,0002 |( 5,400) 9,889) A4, 489)
(= 4,320) 7,910) A 3,590)
(& 162) 299) A137)
(Al 918) 1,680) AT62)
ool XegEXZ2 XEAY 30,847 33,872 N 3,025
307 212tol A 30,847 33,872 N 3,025
02 QI2tFAANHEX 30,847 33,872 N 3,025
= 0ff & 30,847 33,872 N 3,025
O&Me XLEx=2 XNFAFY 30,847,000 30,847
Zofolg 2 A 3,692,436 20,000 3,672,436
S 600,000
Al 3,092,436
401 AEBIZL LY 3,692,436 20,000 3,672,436
s 600,000
Al 3,092,436
01 Al&HI 3,630,000 20,000 3,610,000
S 600,000
Al 3,030,000
=Z13 ( 3,630,000) 0) 3,630,000)
(S 600,000) 0) 600,000)
(Al 3,030,000) 0) 3,030,000)
OZOHOIg 2 HE ZAHHI 3,630,000,000& |( 3,630,000) 0) 3,630,000)
(S 600,000) 0) 600,000)
(Al 3,030,000) 0) 3,030,000)
02 zZeltl 52,635 0 52,635
=313 ( 52,635) 0) 52,635)
OZfolIg 2 HE 22l
3,630,000,000 «1.45% | ( 52,635) 0) 52,635)
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SAT ROHQI=X D
Y Hojel 22X SH(ASSX/HAEAHSKH)
el B SR MEIA 25t CEERED)
) _ . gy 413 < 0 & -
SA BB () - MM - BAS tiert g =t HRE2
25 o) BEED
03 A&=20Yl 9,801 0 9,801
=413 ( 9,801) 0) 9,801)
OFHelg 2 HESAH 2UHHE
3,630,000,000& *0.27% | ( 9,801) 0) 9,801)
OIS KIAIE SALA HRIHA | 150,600 0 150,600
= 150,600
307 Q1201 ™ 150,600 0 150,600
& 150,600
10 AL SAAEEER2IHES 150,600 0 150,600
c 150,600
= 0l A 150,600 0 150,600
= 150,600
OFMUA=SXNAE SAA MRS
150,600, 000& 150,600
= 150,600
A SR 22| (RIS XIAIL) 94,705 0 94,705
301 etz Az 94,705 0 94,705
08 MI=ERRIBAS 94,705 0 94,705
= 0ff &F 94,705 0 94,705
OFHASTAL AS=Z228 SaH
6,000& *65H x20 x 122 93,600
OFMASXAIE AMIERA &I HI
17,000& *65H 1,105
SOOI HFAIE SAMN HE, Or2d22E X3 20,340 0 20,340
= 10,170
Al 10,170
307 Q1201 & 20,340 0 20,340
& 10,170
Al 10,170
10 MISIAEHESIHEX 20,340 0 20,340
= 10,170
Al 10,170
= 0ff &F 20,340 0 20,340
& 10,170
Al 10,170
O AFTAE HE2zxY A&
20,340,000& 20,340
= 10,170
Al 10,170
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SN

X ZH
S =

ZoH el = Xt

DAY =X BA(MIAEXN/HAHNEXR)

Ce: HOHUSXAHIA 23 (CHe &)
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
HOQ HFAE JsEZ 170,000 0 170,000
= 85,000
== 85,000
307 212t0l A 170,000 0 170,000
= 85,000
= 85,000
10 AISISXAIEBHE2IHIEX 170,000 0 170,000
= 85,000
& 85,000
= 0l & 18,000 0 18,000
= 9,000
== 9,000
OHMUAAHFAIE JIsEZ 18,000, 000& 18,000
= 9,000
== 9,000
=213 ( 170,000) 18,000) 152,000)
(= 85,000) 9,000) 76,000)
(= 85,000) 9,000) 76,000)
OFHMLUIAHAFAIE JIsEZ 170,000, 0002 |( 170,000) 18,000) 152,000)
(= 85,000) 9,000) 76,000)
(& 85,000) 9,000) 76,000)
ZHOHQ!I MEOLY X2 (AMBEX/I=MESBE) 13,959,715 13,515,909 443,806
= 9,295,920
== 951,198
Al 3,712,597
SOHQ D= MESE 13,959,715 13,515,909 443,806
= 9,295,920
== 951,198
Al 3,712,597
HOEE(Ilx) 1,328,494 1,140,071 188,423
= 929,946
== 59,782
Al 338,766
301 ot A= 1,328,494 1,140,071 188,423
929,946
== 59,782
Al 338,766
01 AN EEEZG =2 1,328,494 1,140,071 188,423
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SN FOpI=T D
= O MEH X (AMISK/IN=HEEEF)
Chel: HOHQ JIx=ME2F (2 :&A)
SH-EH. O (AN) - NRANY - B o) ) HDE2
01 AMEXESHS = 929,946
= 59,782
Al 338,766
= 0l & 1,251,952 1,140,071 111,881
= 876,366
& 56,338
Al 319,248
OFM==(II=x) 1,251,952,000& 1,251,952
= 876,366
= 56,338
Al 319,248
=313 ( 1,328,494) 1,251,952) | ( 76,542)
(= 929,946) 876,366) | ( 53,580)
(& 59,782) 56,338) | ( 3,444)
(Al 338,766) 319,248) | ( 19,518)
OFM=<(IIx) 1,328,494,000& |( 1,328,494) 1,251,952) | ( 76,542)
(= 929,946) 876,366) | ( 53,580)
(& 59,782) 56,338) | ( 3,444)
(Al 338,766) 319,248) | ( 19,518)
Zo=<(MHAAS) 966,774 948,693 18,081
= 676,742
= 43,505
Al 246,527
301 etEazg 966,774 948,693 18,081
= 676,742
& 43,505
Al 246,527
01 A EEESHS 966,774 948,693 18,081
= 676,742
= 43,505
Al 246,527
= 0ff &F 966,774 948,693 18,081
= 676,742
& 43,505
Al 246,527
OFM=L(IHAAS) 966,774,000& 966,774
= 676,742
& 43,505
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SN
X ZH -
L=

el

ZOof el =Xl o
ZOHQl MEOrE X (AMSSX/INZHESE)
X Ol D EAHE S A

o
“
'
Y

S-S (BN) - ANRAY - BAS o) o) HRE2
| | Al 246,527
THEME 763,800 804,000 A 40,200
& 229,140
Al 534,660
301 etEaz 763,800 804,000 A 40,200
& 229,140
Al 534,660
01 AMSEFEHI3 763,800 804,000 A40,200
& 229,140
Al 534,660
= 0ff &F 763,800 804,000 A 40,200
== 229,140
Al 534,660
OZHl&EM=+Y 763,800,000 763,800
& 229,140
Al 534,660
Zojeld=a 10,312,858 10,234,690 78,168
= 7,219,001
= 618,771
Al 2,475,086
301 LetgEaZ 10,312,858 10,234,690 78,168
= 7,219,001
& 618,771
Al 2,475,086
01 AMIEFESHS 10,312,858 10,234,690 78,168
= 7,219,001
= 618,771
Al 2,475,086
= 0ff &F 7,663,920 10,234,690 AN2,570,770
= 7,200,999
= 462,921
Al 0
(OF<g\/ ReuR:R=; 7,663,920,000& 7,663,920
= 7,200,999
& 462,921
Al 0
=& 13 ( 10,312,858) | ( 7,663,920) 2,648,938)
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SN Ho =X
I MONQ MBOLA XA (ASEX /I ZMSEE)
Sl FHOHQ I ZMEBBE (CHel &)
% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES (ZE o) (I o) Hns2
(= 7,219,001) 7,200,999) | ( 18,002)
(= 618,771) 462,921) | ( 155,850)
(Al 2,475,086) 0)|( 2,475,086)
OXeHB 10,312,858,0002 |( 10,312,858) 7,663,920) | ( 2,648,938)
(= 7,219,001) 7,200,999) | ( 18,002)
(= 618,771) 462,921) | ( 155,850)
(Al 2,475,086) 0)] ( 2,475,086)
ZOopel 2 24 587,789 387,180 200,609
= 470,231
Al 117,558
307 QI2t0| & 587,789 0 587,789
= 470,231
Al 117,558
11 MBIEXALE X 587,789 0 587,789
= 470,231
Al 117,558
=0l At 458,659 0 458,659
= 366,927
Al 91,732
OZO0fel 224 458,659,000 458,659
= 366,927
Al 91,732
=313 ( 587,789) 458,659) | ( 129,130)
(= 470,231) 366,927)| ( 103,304)
(Al 117,558) 91,732)] ( 25,826)
OFOfQ 224 587,789,000 |( 587,789) 458,659) | ( 129, 130)
(= 470,231) 366,927)| ( 103,304)
(Al 117,558) 91,732)| ( 25,826)
WEEH ZH(CUEHIR)(DE/FOILEZESDSR) 375,660 360,000 15,660
wWEHH XY 375,660 360,000 15,660
s3nus X 375,660 360,000 15,660
308 XXESHSOH 375,660 360,000 15,660
08 wWSI2NUHEEE 375,660 360,000 15,660
=0l A 375,660 360,000 15,660
OE2nsEx2 291
18,783,000 *20H 375,660
HE2AZH| (ZOI= X)) (IIEHIIEH) 89,085 31,225 57,860
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S Hoje =X o
M HES2AAH(ZOHQASXI)(IIEH/IIE)
CHel: ol 2] S
% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES (ZE o) (I o) Hns2
olad 29| 49,605 31,225 18,380
ol 29| 49,605 31,225 18,380
101 Q1 4H] 49,605 31,225 18,380
02 JIEtEE A 49,605 31,225 18,380
Ofl At 31,307 31,225 82
OXOHQI=R7AE M Al2HMEIH 2 DA
ol A4 H 28,443
—-J|1=22(02) 1,714,750 x 1« 1228 20,577
—JtELY 100,000 x 1 » 122 1,200
— A st 8 x4 471,45090 x 12 %43 1,886
— ZZEXH| 105,0002! x35/40«1H « 122 1,103
— HoHZAH 130,000 »1H 122 1,560
— G JLE AHI
1,714,750 x84%*86%+1/30%1/7*56 Al 2+ 331
—EZU2L2Y 4,960 x1H*30AI 2 x122 1,786
OXOMQI=RTAE M AlZHMEH I
282 2,864
— 203 28,443,000 *45/1,000 1,280
— AL 28,443,000 *30.6/1,000 871
— LOIRIIQAESE  870,3602 *65.5/1,000 58
— 122 28,443,000 *15/1,000 427
— M E 28,443,000 x8/1,000 228
13 ( 49,605) 31,307) 18,298)
OXOHOI=RAE ML A2 e H D]
ol A4 H ( 45,067) 28,443) 16,624)
- J=23(03)
(1,792,830 » 128 » 128 )+(1,792,8302 «1H |( 30,479) 20,577) 9,902)
*
58)
—E4g
(100,000 * 1% « 122 )+( 100,000 *1H «58 |( 1,700) 1,200) 500)
)
— N s 8 x4 467,080 x 12 %23| |( 935) 1,886) A951)
— XZE XY
(125,000 *35/40% 1 « 122 )+( 125,000 *3 | ( 1,860) 1,103) 757)
5
/40 1H 58 )
— FHUZAY|
(130,000 * 1 « 122 )+( 130,000 1«58 |( 2,210) 1,560) 650)
)
— G JLE AtHI
1,792,830 x84%*86%+1/30%1/7+(63Al 2H+21 | ( 519) 331) 188)

Al24)
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SN M= D
Mz HMSAHH (RN =ZXI D) (IIEH/DIEL)
Erol: ple 2oyl CER-E
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
e EEPY)
(5,180 x 1H *x67 Al 2128 )+(5, 180 1 « | ( 5,901) 1,786) 4,115)
7A|&*5%?
_EAROAC
2ﬁ1,_'5;12,_('3_0_(')_9;*40/35/12*84%*5%*( 122454 ) |( 1,463) 0) 1,463)
OFOMOIF=XFE M AIZFEET DI H
== ( 4,538) 2,864) 1,674)
—=20d3 45,067 ,000& *45/1,000 | ( 2,029) 1,280) 749)
—HLEE 45,067,000 *30.6/1,000 | ( 1,380) 871) 509)
— Lo AeEH
1,380,000& *65.5/1,000 | ( 91) 58) 33)
—1N8EE 45,067 ,000& x15/1,000 | ( 677) 427) 250)
—NMHEE 45,067,000& *8/1,000 | ( 361) 228) 133)
| &2&Hl 39,480 0] 39,480
&l 39,480 0 39,480
201 A E2 A Y| 22,560 0 22,560
01 Ar®2telt] 12,960 0 12,960
SAH=O0IA 8,640 0 8,640
=213 ( 12,960) 8,640) 4,320)
ORMESgII23| ( 4,320) 0) 4,320)
— et 2Y| 1,920,000& |( 1,920) 0) 1,920)
— = 2| 2,400,000 |( 2,400) 0) 2,400)
02 =s324dH| 9,600 0 9,600
=413 ( 9,600) 0) 9,600)
OoER3(LE, S21) 9,600,000 |( 9,600) 0) 9,600)
202 0| 13,920 0 13,920
01 2L 13,920 0 13,920
SH=SO0IA 11,520 0 11,520
=413 ( 13,920) 11,520) 2.,400)
OgR=XIIS20H| ( 2,400) 0) 2,400)
203 YRl 3,000 0 3,000
04 PEANASIYLRE=XHI 3,000 0 3,000
SAHSO0IA 400 0 400
=413 ( 3,000) 400) 2,600)
ORNMSIHRF&AY| 2,600,000 |( 2,600) 0) 2,600)
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